Spelling Arithmetic 356 cm + 227 cm =

misbehave
misdeal
misfire
mishear
mislead

32 x =0

2 of 36 =
g0f 36=

Grammar and punctuation
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Can you think of adjectives to describe the underlined
nouns in the following sentences? Rewrite the sentences
with the adjectives to make them more interesting.

The boy ran.

The teacher lives there.

The man came here.

Kinza went to her school.

2. Rewrite each sentence. Change the underlined word or
words to a pronoun.

Sarah made dinner for the whole family.

Tyrone played tag with Ahmad and Ammar.

Reasoning

1. Complete the following number sequences.

50, 100, , , 250

, 405, 505, ,705

123, , 129, , 135,

2. There are 94 children in the nursery.

24 boys and 16 girls go outside.

12 girls and 14 boys come inside.

How many children are inside the nursery?

3. Sara has thirty-six erasers.
She gives her sister two-third of the erasers.
How many erasers does she have left? .




